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(=R 2.6-1.1/0.9 = 1.37 i 1.4
FLmREIE 0.50%x10.0 = 5.0 ni 5.0
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i

zd ZiN i S 7 # = I G2
By y—b BIEsHER) |18-8-40 t=10cm nm 100[0
e RC-40 t=10cm i 1000
H Hipf t=10cmecm i 1l6
N i 1000

X i T W=15cm €77 K m 2810 FEE LY
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( —3U %)

it " A BAT | %K &=
£y TIX &R

waAVH— b

$=1:200

a7 U—k (WFESMEE)  18-8-40 = 100 m 100
pr Yy a t=10cm RC-40 = 100 m 100
H Hoas t~10 16.4X0. 1 = 1.6 m 2
Fosar = 100 ni 100
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PiJOoKFERMRF T ft = Lt J &

( —xX HDY)
- SV BAL | & =
o LI 2 HR
%ﬁfl'qzﬁ $=1/200
a1 g 98 [40cm H=19m
I [
5
3 oYy — g
7} | : f .2 7 A=47.0m2 tgmcm
S s
’//////; pi
| Aé%&
\FH=81.23 B

a7 U—h
47.0+11.6 = 58.6 m 59
58.6mi X 0. 10 = 5,86 m 6
A U—k
Vi= (3.3+1.2) X1.7X0.10=0.765
V2=9. 6 X 1. 30X0. 10=1. 248
V3=1.8X0.80X0. 10=0. 144
F4E
V=0. 40 X0. 40 X 1. 90=0. 304
0. 765+1. 248+0. 144 = 2.461 m 2
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